
Tên: 　　　　　　　 Ngày tháng: 　　　　　　 Điểm: 　　　

Phép cộng lên đến 100 (hàng ngang)

31 + 6 = 17 + 31 =

32 + 57 = 40 + 58 =

97 + 100 = 85 + 88 =

95 + 69 = 61 + 19 =

28 + 56 = 81 + 11 =

49 + 85 = 45 + 94 =

18 + 55 = 11 + 69 =

2 + 66 = 7 + 61 =

19 + 42 = 59 + 61 =

11 + 7 = 31 + 3 =
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Tên: 　　　　　　　 Ngày tháng: 　　　　　　 Điểm: 　　　

Phép cộng lên đến 100 (hàng ngang)

31 + 6 = 37 17 + 31 = 48

32 + 57 = 89 40 + 58 = 98

97 + 100 = 197 85 + 88 = 173

95 + 69 = 164 61 + 19 = 80

28 + 56 = 84 81 + 11 = 92

49 + 85 = 134 45 + 94 = 139

18 + 55 = 73 11 + 69 = 80

2 + 66 = 68 7 + 61 = 68

19 + 42 = 61 59 + 61 = 120

11 + 7 = 18 31 + 3 = 34
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